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mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 NTo Jris] 3S +1 -170 Jris] 3S +1 -170
> |mtl ® | anT | 2| 50 | & | aNnT | -1 | s0
3 |&mAE| ® | aNnT | = | 600 % | 4H | +1 | 650 | 2
4 |wa|l = | 4s | = | 620 ® | 35 | = | -140 10
5 |gdbl & | aNT | +2 | 460 | & | 3NT | +1 | -430 1
6 |mA| = | 4s | 2 | w00 | & | 4s | -1 | 100
7| lwal 8 | 3H | = | w0l &8 | 31 | = | 140
8 |wkl @ | 40 | +2 | 480 | B | 4H | +2 | -480
o |mAm| ® | 6Hx | -1 | 200| & | 6H | -1 | 100 | 3
10|wal &z | 2o | +2 | 130| ® | 2p | +1 | -110 1
11 |wx| i | aNnT | +3 | 490 | & | sc | = | 400 | 3
12 |’Edb| & 55 | +1 | -480 | 7 2H | +4 | -230 6
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mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 NTo x 3S +1 -170 x 2S +2 -170
2 2] d Jris] INT = -90 Jris] INT -1 50 4
3 panyiic] Jris] 6C = -1370 Jris] 5C +1 -620 13
4 =] x 3S = -140 x 4S = -620 10
5 2] d Jris] 3NT +1 -430 Jris] 3NT +2 -460 1
6 panyiic] Jris] 4H -1 100 Jris] 5Hx -1 200 3
4 =] [£3] 4H -1 -100 [£3] 2H +1 140 6
8 NTo Jri] 4H = -420 Jri] 6H -2 100 11
9 panyiic] x 5H = -650 x 4HX +1 -990 8
10 | VB [ri] 3C = -110 x 3D +1 -130 1
11 | N [£3] 6C = 920 [£3] 5C = 400 11
12 | @it [ri] 4ANT +2 -490 x 4S +3 -510 1
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XA/ SE R, 6 ENXE/SERW 14 V.P. 8.3 | 11.7




3% ¥ 3R 2013411 H23H
5 Ififs(He VS 8 RIIEE
H= EES
IRSHER RIEE RIEE IRSHER
it : 22H IR : B it : BRE&% R BER
B B 7 B % B 7 - 5
mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 |wk| & | 3s | +1 | 270l & | 4s | = | 420] s
2 2] d x INT -1 50 LL PAS 2
3 |zmm| & | eH | 1 | 100 | & | ac | +2 | 170 | 7
4 |WB| K 2S | +1 | -140 | & 3H = 140 7
5 2] Jris] 4H +1 -450 R 3NT +1 -430 1
6 |zwm| = | 4s | = | 620 & | 45 | -1 | 100 12
7 |wa| & |iNTx| 2 | 500 | B | 21 | +1 | 140 | s
8 |wxl @m | a0 | +2 | 480 & | 61 | = | 980 | 11
o |zm| & | 5sx | 2 | 300| % | 5H | = | 650 | s
10 | VB x 2H = -110 1t 2S -1 -100
11 |wx|] 8 | ec | 1| 50| & | ec | -1 | 50
12 | @it x 4S +3 -510 x 4S +1 -450 2
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mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 NTo Jris] 4S = -420 Jris] 2S +2 -170 6
2 2] ¢ x INT = -90 x 2NT -2 100 5
3 panyiic] Jris] 6H -1 100 Jris] 4H +1 -650 13
4 =] x 3S = -140 x 4S -1 100 6
5 2] Jris] 3NT +1 -430 Jris] 4H = -420
6 panyiic] x 4S -1 100 Jris] 4H = -620 12
7 =] [£3] 3H = 140 [£3] 4H -1 -100 6
8 NTo Jri] 5H +1 -480 [ri] 6H -2 100 11
9 panyiic] x 6H -1 100 x 4H +1 -650 13
10 | N8B [ri] 2S -2 200 1t 2S -1 -100 7
11 | N [£3] 3NT +3 490 [£3] 3NT +3 490
12 | @it x 4S +3 -510 x 58S = -450 2
DATUM&iit iFEE
ARUES SMNER y. S+ ] 51 | 30
me [[F=E 23 B/ R /ighim iR -2 &it 51 30
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mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 |wxl| @® | 4s | = | 420 7\ | 3s | = | -140 7
2 | mEib LL PAS A | ANT | = -90 3
3 |mm| &/ | ec | = |-a370| ® | ec | = |-1370
4 |wal & | as | 2| 100 ® | asx | -1 | 200 3
5 |gbl & | 41 | = | 420 & | aNT | +1 | -430
6 |mml ® | aH | = | 620 B | 4+ | -1 | 100 12
7 |lwal 8 | 4 | 1 | 100 B | 31 | = | 140 6
s |wxl @ | eH | 2 | 100 & | a0 | = | 420 12
o |mAm| % | sH | = | es0| & | 55 | 3 | -150 11
10|wa| 4 | 2s | 2| 20| % | 20 | +2 | 130 7)
11 |wx| | ec | = | 920 | & | ec | = | 920
12 @] = | 4s | +3 | 10| & | 4s | +3 | 510
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SKIP=/;CARA8  -19 SE/1RE 12 ait 14 | a
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